
EJECTION SEAT 

DROGUE CONTAINER ASSEMBLY 

Page 52 

Figure 18. Drogue Container Assembly 

AP 109B-0127-3A 

May 80 (Amdt 6) 



EJECTION SEAT 

DROGUE CONTAINER ASSEMBLY 

AP 109B-0127-3A 

FIG/ 
UNITS 

INDEX PART NO NOMENCLATURE pes PER 

NO 123 45 6 GROG ASSY 

18- MBEU 19938 Container - Assy ~ Drogue 1 

(Attaching Parts) 

=1 AGS2001 Cl Nut - 2BA 4 

-~1A SP13C Washer 4 

-2 A25-11C Bolt 4 

-3 MBEU12107 Nut - 8-32 UNC 4 

-4 DS150-C3 Screw - 8-32 UNC 
4 

= MBEU15180 Strip - Front - Securing 1 

-6 MBEU12107 Nut - 8-32 UNC (Mod 2678) 16 

-7 DS150-C3 Screw - 8-32 INC 16 

-8 MBEU15187 Strip - Side Securing - Port 1 

-9 MBEU15188 Strip - Side Securing - St'b'd 1 

-10 MBEU15185 Strip - Stiffening - Port 1 

-11 MBEU15186 Strip - Stiffening - St'b'd 1 

-12 DS150-C2 Screw - 8-32 UNC 7 

-13 MBEU12140 Nut - 8-32 UNC (Mod. 2678) 2 

-14 MBEU 25889 Washer - Dished 2 

-15 MBEU12107 Nut - 8-32 UNC (Mod, 2678) 5 

-16 MBEU7822 Strip - Back Securing 1 

-7 MBEU 26226 Sleeve - Drogue Protection Assy (Mod 2872) 1 

-18 MBEU349-HK Nut - 2BA 
7 

-19 MBEU1595-Z Bolt - 2BA 
7 

—20 MBEU15189 Channel - Blind Cords - Port 1 

-2) MBEU15190 Channel - Blind Cords - St’b'd 
] 

—22 MBEU193-J5 Bracket - Retaining Pin - Port 1 

-23 MBEU194-J5 Bracket - Retaining Pin - St’b’d 
1 

—24 MBEU11221 Boss - Pin Safety - Assy 
1 

-25 MBEU5877 Plate - Warning 
1 

* Item not illustrated 

May 80 (Amdt 6) Page 53 


